

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc.

1616 S. Voss Suite 600

Houston, TX 77057-1264

Invoice Number: 147218

Invoice Date: Nov 19, 2014 1

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment	Terms
Land	65142	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-01	Great Bend	Nov 19, 2014	12/19/14

Quantity	Item		Description	Unit Price	Amount
		Janzen #4-7	Open de presidente de la companya del companya de la companya del companya de la companya del la companya de la		
70970000		Class A Common		17.90	4,117.00
E O	E 10 10 10 10 10 10 10 10 10 10 10 10 10	Gel		0.50	216.00
	CEMENT MATERIALS	Chloride		1.10	712.80
		Cubic Feet Charge		2.48	616.80
510.74	CEMENT SERVICE	Ton Mileage Charge		2.75	1,404.54
100 (0.00 (0	CEMENT SERVICE	Surface		1,512.25	1,512.25
45.00	CEMENT SERVICE	Pump Truck Mileage		7.70	346.50
	CEMENT SERVICE	Light Vehicle Mileage		4.40	198.00
	CEMENT SUPERVISOR	Joshua Isaac			
	OPERATOR ASSISTANT	Daniel Casper			
	4				
					1
		Subtotal			9,123.89

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,824.77

ONLY IF PAID ON OR BEFORE Dec 19, 2014

Subtotal	9,123.89
Sales Tax	411.23
Total Invoice Amount	9,535.12
Payment/Credit Applied	
TOTAL	9,535.12

ALLIED OIL & GAS SERVICES, LLC 065142 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 9 SOUTHLAK	3999 KE, TEXAS 760	92		SERV	VICE POINT:	bund
DATE 11-19-14 SEC	7 TWP.	RANGE 33	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
OLD OR MEW (Circle o	L# 4-7	LOCATION 83/	4XT-54	•	COUNTY Scott	STATE
CONTRACTOR MUT TYPE OF JOB 500F			OWNER			
HOLE SIZE 12-14	T.D.		CEMENT			
CASING SIZE 95	A DEP			DERED 23	0 54 11	055 1 370
TUBING SIZE	DEP		2/50	DERED	- on Q.	23 40 AL
DRILL PIPE	DEP					
TOOL	DEP	TH				
PRES. MAX	MIN	IMUM	_ COMMON	230	@ 17.90	4.117.00
MEAS. LINE		E JOINT	POZMIX	0.000	@	
CEMENT LEFT IN CSC	3. 15F+	X X X X X X X X X X X X X X X X X X X	_ GEL	432	@ <u>• 5 0</u>	216.00
PERFS.			_ CHLORIDE _	648	@ 1.10	712.80
DISPLACEMENT 15	192 PP1 HZ	20	_ ASC		@	= 570
J	EQUIPMENT			Materials		5.045.80
				Dis	The second secon	1.009.16
	ENTER	sh Isanc		F	_@	
# 366 HELP	PER Don	C4505			_@	-
BULK TRUCK	7	. /			_@ @	
	ER Jose]	racheta (TW	(ک	<0.	vice	
BULK TRUCK			·	<u> </u>	@	
# DRIV	ER		- HANDLING	18.71	@ 2.48	616.80
			MILEAGE 11.		2-75	1.404.54
	REMARKS:					#Wes-
on location - Rio	1 110 -bad.	C. Ster Merson				
Rin 85/4 Carding-			= }			
Dump 5661 42						
mix 230 sx clas	15 A 3/10	Zinel	_ DEPTH OF JO	B		
Displace 15.92	- 661 HZO		_ PUMP TRUCK		1512-3	5
Shot in		** 110.4 (140.5)	EXTRA FOOT		@	
	where		_ MILEAGE_A		@ 7-70	346.50
Rig dara		All the second s	- MANIFOLD_	terminates and terminates	@	
				um 45	@ 4.40	198.00
, ,			The state of the s		_@	
CHARGE TO: Landn	101K Reser	263				
					TOTAL	2.674.95 534.99
STREET			-		Disego	5 534.99
CITY	STATE	ZIP	- * .			
			I	LUG & FLOAT	EQUIPMEN	T
			**************************************			<u> </u>
				-	_@	Control of the second of the s
To: Allied Oil & Gas So			,		_@	
You are hereby requeste	ed to rent ceme	enting equipment			_@	
and furnish cementer as	nd helper(s) to	assist owner or			_@	-
contractor to do work a						
done to satisfaction and	supervision o	f owner agent or			TOTAL	10_
contractor. I have read	and understand	d the "GENERAL			Dise 0%	
TERMS AND CONDIT			SALES TAX (I	f Any)		
1			TOTAL CHAR	GES 7.720	. 75	
DDDIED WITE X 1	van Tino	0	20	7.544.	15 (20/20/0)
PRINTED NAME	van IING	DC O	_ DISCOUNT_		IF PAI	D'IN 30 DAYS
VA				(171	60	
SIGNATURE A Sec	on the	Ø .	_	0.1.9		



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600 Houston, TX 77057-1264

INVOICE

Invoice Number: 147342

Invoice Date: Nov 28, 2014 1

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment Terms Net 30 Days	
Land	65149		
Job Location	Camp Location	Service Date	Due Date
KS1-02	Great Bend	Nov 28, 2014	12/28/14

Quantity	Item		Description		Unit Price	Amount
1.00	WELL NAME	Janzen #4-7			2 × 100 × 100 × 100 × 2 × 190 × 100 × 100	
595.00	CEMENT MATERIALS	60/40/8% Gel Blend			19.89	11,834.5
298.00	CEMENT MATERIALS	Flo Seal			2.97	885.06
683.10	CEMENT SERVICE	Cubic Feet Charge			2.48	1,694.09
1,250.10	CEMENT SERVICE	Ton Mileage Charge			2.75	3,437.78
1.00	CEMENT SERVICE	Production 2nd Stage			2,443.75	2,443.75
1.00	CEMENT SERVICE	Manifold Rental			275.00	275.00
1.00	CEMENT SUPERVISOR	Joshua Isaac				ı
1.00	EQUIPMENT OPERATOR	Ben Newell				
		=		U - 4		
				0 • *		
			21.	606-88+		
			5,	142 * 56-		
		Subtotal	000			20 570 2

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

5,142.56

ONLY IF PAID ON OR BEFORE Dec 28, 2014

Subtotal Sales Tax Total Invoice Amoun Payment/Credit Appl TOTAL

20,570.23 16 464 32 *+ 1,036.65 21,606.88 21,606.88

ALLIED OIL & GAS SERVICES, LLC 065149 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

C	1
SERVICE POINT:	_ //
Great	Rond
(Oreleth	Jong

	2.31							
DATE 11-28-14	SEC. 7	WP. 17	RANGE 33	CA	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE JUN 20h	WELL# 4	1-7	LOCATION SCO	ttain	4 N to 82.		COUNTY OCO H	STATE.
OLD OR NEW (Cir			54W S	Sinto	1 1 1 1 1 1 1 1 1	911.9	00.71	
				74.			1	
CONTRACTOR /			1		OWNER			
	roduction		d Stage					
	725	T.D.			CEMENT		1.1.	
	52	DEP			AMOUNT OR	DERED 595	5x 60/4	0 8%.5d
TUBING SIZE		DEP			YYFIO			
DRILL PIPE		DEP						
TOOL			TH 2413	-				
PRES. MAX		0.00	IMUM		COMMON		_@	-
MEAS. LINE		SHC	E JOINT		POZMIX		_@	2000
CEMENT LEFT IN	CSG.				GEL	wood the control of t	@	
PERFS.					CHLORIDE_		_@	
DISPLACEMENT	57.42 6	31 HZ	',o		ASC		_@	
	EQUIP	MENT			59534	60/40+8%	@ 19.82	11.834.5
					410	298	@ 2.97	885.06
PUMP TRUCK C	CEMENTER	()25	15660		Proceeding and the second	Materia	1 Total	12.719.6
^		Benn					25%	3.179.90
BULK TRUCK	AULIUN (Jen	- word N					
000	DRIVER 4	Ma	ny Espinoza	in	,<		_@	
BULK TRUCK	SKIVER 7	1111001	14 Cylinoza	Fin			ervice	
	DRIVER	1000	omez (T	1725)			_@	
" Delp 2	MI TER O	AWN 1	UMUD CI	/	HANDLING 4		@ 2.48	1.694.9
					MILEAGE 27	.78 X Y5 X	2.75	3.437.2
	REMA	RKS:						
Drop dart -ope	ntool - pres	SUR US	051					*
Circulare mord								
Plus RH YM						2		
mix 5505x	60/40	8/301	Vy Flo	115.15	DEPTH OF JO	В		
Drop plug					PUMP TRUCK		443.75	
Displace 57.			154 F. S. & F. & F. & F. & F. & F. & F. & F		EXTRA FOOT		@	- PHILIPPINE STATE OF THE STATE
Land, plug 1	300 051	-111	5 Am		MILEAGE &		@	• * ו•
Rug down					MANIFOLD_		@ 275.00	275.00
(Fa)							@	-
,							@	
CHARGE TO:	ed wark	Res	eurces					
				-			TOTAL	7.850.
STREET							N. 1018L	1.962.
CITY	STATE	3	ZIP				LXX 23 10	5 1
Y	077112	-				PLUG & FLOAT	EQUIPMEN	IT
							0	
					***************************************		_@	-
To: Allied Oil & C	lac Caminas	TIC					@	
To: Allied Oil & G							_	
You are hereby req	juested to re	ni ceme	enting equipmen	ΙĹ			_@	
and furnish cement					-	The second deput and any and	_ =	~
contractor to do wo								(ϵ)
done to satisfaction							TOTAL	6-4-
contractor. I have							Jan C	
TERMS AND COM	NDITIONS"	'listed	on the reverse sid	de.	SALES TAX (I			
`	1				TOTAL CHAR	GES 20. 57	W. 33	1
/	Y-		14		25%	GES 20. 57 5. 14	2.56	(25/25/n
PRINTED NAME	7 ~so	\sim \sim	alker		DISCOUNT_		IEPAI	D IN 30 DAYS
\sim	/ \					15 N	27 6	7_
SIGNATURE .	7.	, , 1				13.1	× 1	
11	~ ~ ~ ~ ~	1	YOU IN					



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Landmark Resources, Inc.

1616 S. Voss Suite 600

Houston, TX 77057-1264

INVOICE

Invoice Number: 147341

Invoice Date: Nov 28, 2014

1 Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment Terms Net 30 Days	
Land	65148		
Job Location	Camp Location	Service Date	Due Date
KS1-02	Great Bend	Nov 28, 2014	12/28/14

Quantity	ltem	Description	Unit Price	Amount
1.00	WELL NAME	Janzen #4-7		2)
150.00	CEMENT MATERIALS	ASC	23.50	3,525.00
750.00	CEMENT MATERIALS	Kol Seal	0.98	735.00
500.00	CEMENT MATERIALS	DV-1100	1.35	675.00
191.54	CEMENT SERVICE	Cubic Feet Charge	2.48	475.02
376.20	CEMENT SERVICE	Ton Mileage Charge	2.75	1,034.55
1.00	CEMENT SERVICE	Production Casing	2,765.75	2,765.75
45.00	CEMENT SERVICE	Pump Truck Mileage	7.70	346.50
1.00	CEMENT SERVICE	Manifold Rental	275.00	275.00
45.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	198.00
1.00	EQUIPMENT SALES	5-1/2 Latch Down Plug	660.00	660.00
1.00	EQUIPMENT SALES	5-1/2 AFU Float Shoe	545.00	545.00
13.00	EQUIPMENT SALES	5-1/2 Centralizer	57.00	741.00
3.00	EQUIPMENT SALES	5-1/2 Basket	395.00	1,185.00
1.00	EQUIPMENT SALES	5-1/2 D V Tool	5,335.00	5,335.00
1.00	CEMENT SUPERVISOR	Joshua Isaac		
1.00	EQUIPMENT OPERATOR	Ben Newell		
		0 • *		
ALL DDICE	ES ARE NET PAVARIE	Sub 19.588.00+	(A)	18,495.82

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHA THEREAFTER. IF ACC CURRENT, TAKE DISC

\$

2,50

ONLY IF PAID ON OR BEFORE Dec 28, 2014

DATE OF	Sale 2 • 507 • 46 -	1,092.18
HARGED	Tot: 000	19,588.00
COUNT IS COUNT OF	Pay 17 • 080 • 54 *+	
	TO	19,588.00
507.46		

ALLIED OIL & GAS SERVICES, LLC 065148 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	2		SER	VICE POINT:	Bend
DATE 11-28-14 SEC. TWP.	RANGE 33	CALLED OUT	ON LOCATION	JOB START 430 Am	JOB FINISH
LEASE Janzen WELL# 4-7	LOCATION S	Hairy N to 8	2/11 11.11	COUNTY	STATE
OLD OR MEW (Circle one)	5 /4 W - 5	HELTY IV NO	3/4 404	2011	
CONTRACTOR MUTTER		OWNER			
HOLE SIZE 176 T.D.	The state of the s	CEMENT			
	H 4841		DERED 150	er 150	2 /605
TUBING SIZE DEPT		10%504	6/gyl 5#	Kal	LIJO
DRILL PIPE DEPT			070	1-01	
TOOL DEPT	H 2413				
PRES. MAX MINI		COMMON		_@	
MEAS. LINE SHOE	JOINT 42.23	POZMIX		_@	
CEMENT LEFT IN CSG. 42.26		GEL			
PERFS.		CHLORIDE _		@	
DISPLACEMENT 114, 2 (bb) 410	/ md	ASC/5		@ 2 3. <i>5</i> 0	3.525.00
EQUIPMENT		<u>Kal 5==1</u>		_@.٩४	735.00
		DU-1100		@ 1.35	675.00
PUMPTRUCK CEMENTER 2064	Isake			rial Total	4.935.00
# 366 HELPER BEN NUM	all		Dia		1.233.73
BULK TRUCK	,			@	
# 566-595 DRIVER JUAN T.	ama (This)				
BULK TRUCK		71		eurd	
# 590-241 DRIVER Anthony	Espigoza C	The HANDLING	191.54	_@	475.02
J	- 0		-36 x 45 X	2.75	1.034.55
REMARKS:		meerice _c	· · · · · · · · · · · · · · · · · · ·	-	7.007
	Maria de la compania				
Pun 5/2 casing - Brak circulation	merry	- Companies			
from 5th casing - Brak circulate	, <u> </u>				
Mix 1503+ ASC 2750 10%5.	alt 6%.941 St	Ekki DERRI OF 16	, D	(Const.)	
Drop plus	11 61-991 25	LA DEPTH OF JO PUMP TRUCI		2 -	765.75
Displace, 5678 Bbl 420 / Displace	57.42 W/ m	EXTRA FOOT			
Plus dod not Land - 000		MILEAGE		@ 7-7 0	346.50
Shor in - Wait 4 hrs		— MANIFOLD		@ 275.00	275.00
			Um 45	@ 4.40	198.00
		Water Control of the			
CHARGE TO: Landmark Ruson		*************************************			57.5
CHARGE TO	18.005	-		TOTAL	5.094. EZ
STREET				Dir 25	5.094, 82 % 1.273.71
CITYSTATE	7IP				
			PLUG & FLOA	T EQUIPMEN	NT
		Latoh do	un Divs		660.00
		Afu flo	at shal	@ 545.00	545.00
		_13 con	ralizes	@ 57.00	741.00
To: Allied Oil & Gas Services, LLC.		3 B45	KETS	@ 395.00	1.185.00
You are hereby requested to rent ceme	nting equipment	DV 70.	3 [@ 5335.0	<u>5. 335. 00</u>
and furnish cementer and helper(s) to				@	• • • • • • • • • • • • • • • • • • • •
contractor to do work as is listed. The		S			60
done to satisfaction and supervision of				- TOTAL	8.466.
contractor. I have read and understand				Dist on	Ø
TERMS AND CONDITIONS" listed of		de SALES TAX (
	10 10 10130 310	TOTAL CILA	GES 18. 49	5. 82	C 15
X		IOIALCHAI	2.50	7.46	(25/25/0)
PRINTED NAME	1200-	DISCOUNT_	-1:	IF PAI	D IN 30 DAYS
1 1			3. 50 15. 9	88.36	
SIGNATURE	W.		, 5.		-
() () () () () () () () () ()		-			